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High speed Detection Handshake

High speed Detection Handshake state detected

Stglus
The handshake completed successfully.

When does this state ocour?

All high speed devices start at full speed to ensure USBE 1.1 backward compatibility, If the upstream port {device) supports high speed signaling, it will generate a Chirp K
state on the bus after Reset. If the downstream port host) also supports high speed signaling, it will generate Chirps to change the link speed into high speed. If the
downstrearn port (host) does not support high speed signaling, it will never see the upstream part {device) Chirp and the link speed will stay at full speed.

Ttem Device En. Interface Status Speed Fayload Time ~
7 i K| 7 T 7 7| 7
FF Reset (1.8 ms) 0.000 000 000
":F FPower ON 0.002 Tas 067
M2 Suspended (1.1 ms) 0.003 TEG BLT
S Reset (8839 us) 0.004 B3 50D
| High speed Detection Handshake I 0.00 583
%} Getlesariptor (evics) 0o 0 0K ¥ 18 bytss (1. 0.146 061 817
51 Reset (728 4 us) 0.148 217 60D
H High speed Detection Handshake 0¥ 0.148 T72 033
+ Sethddress (1] 0 ) 0K H3 Ho dats 0.258 276 433
#[E GetDeseriptor (levics) 1 i 114 HS 18 bytes (1 0.320 T12 450
5 Getlesariptor (Configuration) 1 i i3 K3 @ bytes ©9... 0.321 047 383
%@ GetDescriptor (String lang IDs) 1 i 0K HS 4 bytes (04... 0.321 370 500
#[E Getleseriptor (String iSerialfunber] 1 i i) HS 34 bytes (2 0,321 550 133
%} Getlesaripter (Configuration) 1 i i3 K3 39 bytes (0. 0.321 930 100
= GetDescriptor (String lang IDs) 1 0 0K HS 4 bytes (04 0.322 337 800
# 7 Getlesariptor Gtring iProduct) 1 i s K 3 bytes (... 0.322 554 133
%5} Getleseriptor String lang IDs) 1 i 0K K3 4 bytes O4... 0.322 921 167
#[E Getleseriptor (String iFrodurt) 1 i 114 HS 34 bytes (2 0.323 174 550 3
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High speed Detection Handshake
High speed Detection Handshake state detected

Status
The handshake completed successfully.

When does this state occur?

All high speed devices start at full speed to ensure USB 1.1 backward compatibility. If the upstream port



(device) supports high speed signaling, it will generate a Chirp K state on the bus after Reset. If the downstream
port (host) also supports high speed signaling, it will generate Chirps to change the link speed into high speed. If
the downstream port (host) does not support high speed signaling, it will never see the upstream port (device)

Chirp and the link speed will stay at full speed.”
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High speed Detection Handshake
High speed Detection Handshake state detected
Stglus
The upstream port {device) did not generate Chirp K state. This usually happens when the upstream port does not support high speed signaling {full speed or low speed
device)
When does this stade ocour?
All high speed devices start at full speed to ensure USE 1.1 backward cornpatibility. If the upstreamn port {device) supports high speed signaling, it will generate a Chirp K
state on the bus after Reset. If the downstream port (host) also supports high speed signaling, it will generate Chirps to change the link speed into high speed. If the
downstream port {host) does not support high speed signaling, it will never see the upstream port (device) Chirp and the link speed will stay at full speed.
v
Item Device En... Interface  Status Speed Fayload Time L
7 7w 7 7 7 7 7
2% Reset 48 =) 0.000 000 000
S Reset (1711 ms) 4.554 590 £83
W High speed Detection Handshake TIMEOUT 4.564 £01 550
B Sucpended (8.3 ms) 4.725 T35 TUT
F1 Reset (280.5 ms) 4.732 031 500
T High speed Detection Handshake TIMEQUT 4.742 (42 350
B Sucpended (204 ns) 5,012 504 850
51 Reset (50.4 ns) 5.032 937 083
T High speed Detection Handshake TIMEQUT 5.042 947 933
B Sucpended [(446.7 ms) 5.083 336 200
54 Reset (30.0 ns) 5.630 &8 317
i i T I O L S N
@ Getlleseriptor (Device) a ) IRVALID F3 Ho data S.TBB TTEH 633
BE Getleseriptor (levies) a i THYALID 5 Wo data 5. 766 S14 433
@ Getlleseriptor (Deviece) 1} 0 IHVALID F3 Ho data 5.TBB &30 833
BE Getlescriptor (Mewice) a 0 THYALID ¥5 ¥o data 5772 192 433
@ GetDescriptor (Deviee) 1} 0 INVALID F3 Ho data 5.772 214 900 3
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“High speed Detection Handshake

High speed Detection Handshake state detected

Status
The upstream port (device) did not generate Chirp K state. This usually happens when the upstream port does not
support high speed signaling (full speed or low speed device)

When does this state occur?

All high speed devices start at full speed to ensure USB 1.1 backward compatibility. If the upstream port (device)
supports high speed signaling, it will generate a Chirp K state on the bus after Reset. If the downstream port (host)
also supports high speed signaling, it will generate Chirps to change the link speed into high speed. If the
downstream port (host) does not support high speed signaling, it will never see the upstream port (device) Chirp
and the link speed will stay at full speed.
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High speed Detection Handshake 1
High speed Detection Handshake state detected
Stglus
The upstream port {device) did not generate Chirp K state. This usually happens when the upstream port does not support high speed signaling {full speed or low speed
device)
When does this state ocour?
All high speed devices start at full speed to ensure USE 1.1 backward cornpatibility. If the upstreamn port {device) supports high speed signaling, it will generate a Chirp K
state on the bus after Reset. If the downstream port (host) also supports high speed signaling, it will generate Chirps to change the link speed into high speed. If the
downstreamn port (host) does not support high speed signaling, it will never see the upstream port {device) Chirp and the link speed will stay at full speed. |
Item Device En... Interface  Status Speed Fayload Time Lo
7 ¥ E ¥ 7 7 7 7
&% Reset (4.5 =) -4, 315 350 600
“_',E FPower OF 0.000 000 000
S Reset (4855 ms) 0.288 231 900
e gy
Suspended (3.4 =) 0.773 733 933
Reset (50 4 ms) 9124 260 800
" High speed Detection Handshake TIMEQUT 9.134 280 450
Suspended (1.5 =) 9.174 B3Z 100
Reset (29 6 ms) 10,741 316 250
¢, High speed Detection Handshake TIMEQUT 100781 327 117
GetDescriptor (Device) 0 @ ] 0K FS 8 bytes (12 10. 876 620 000
GetDescriptor (Deviee) 0@ 0 0K F3 18 bytes (1... 10.892 943 500
8 GetDeseriptor (Configuration) o @ 0 0K F3 34 bytes @0... 10.893 873 41T
Sethddress (2) 0@ 0 0K 3 Fo data 10,904 938 333 —
SetConfipuration (1) z 0 0K F3 Ho data 10,920 955 2687
Class request OUT (0x04) z ) o 0K F3 Ho data 10,926 885 033
+ Class request OUT 0x=0E) -4 0 a 1): F5 Ho data 10,932 574 933
+ SetFeature (Mevice, Remotefakeup) z 0 0K F3 Ho data 10,935 504 500
# (78 Class reouest OUT (0x08) 2 o o 1):4 F3 1 byrte (001 10.944 886 BLT A
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2.  Ellisys Visual USB Analysis Software Version 3.1.3400.0 32-bit edition



